EARAROBEEIERT — 2 N— IBISH —F

2018511840 (H) 10E=%128

IGB 28~1)ChS 5% 3m%LE

‘ [R1%] & ‘ [REBB] — | & (£) 16000 B

[AE<%] 1 7% :2,500,000 § ~ 2 37&:750,000 F 3 #&:375,000 4

4 7% 250,000 F 5 3&:125,000

B\ ®RBE mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
- SN 5. e 2| — BIRFRLE] (R%0)
il lazse7LoL i 8 AW 1(4_5)3 1-1-1-1 | 40.2 2 (439) e
R:Y=Z24—-3=224— B:aA-7F1-714> F]skaed
> 7 | ERER 1:45.9 9-8-7-4 |40.0| — 7 480 | IEEEE (&)
oly 7| FrA A @ 43) |BEfER
Z:vQ7x B:Vbwb/O— TS
S t 8 | BIIE 1:45.9 6-6-3-2 |40.3| — 5 514 | IBEBE (FH)
3 2| X—TAEyF g 57.0 (F4<) (5) | EHBE
L:h74=2T BTz ayF HET7—L
—:\ 4 7 | BURTREK 1:46.4 4-3-4-3 | 40.8| — 6 503 | AURTEE] (&)
4 4| 7>3ATT/ 57.0 (21/2) (0) |IEEEER
x4 Yavdo Ry By — i —%F
SRS o7 | BAKH 1:46.9 7-7-6-5 | 41.1| — 4 535 | BUATEE] (BH)
555 ERI7TvE 57.0 (2 1/2) (-2) 1REREEA
R:TITRAFIEN B:T7vx—%T4 Ep=bkic]
Sy —AZXS— 4 9 | EE¥RE 1:47.2 11-11-10-7 [ 40.5 | — 9 491 | BIFFESE] (B0
61718 e AN 2 57.0 (11/2) (+16) BHEH
RN=YI54 B:Rh—3I2 AT TREBS
S FiE)llEGIN : -9-9- - MAARER) (SH)
7 6l IToTr1v— i 6 & 1.(427>.6 8-9-9-10 | 41.2 3 ?g; cﬁmm
L:Ers0704 BiIAY T4—T41 IR A
: ¢ A . oo, — BEEX (FH)
gl7lg|T>FrIN—N= # 5 | KBAE (et 2-2-2-6 | 42.4 10 <5+477) LSl
R:R7Y—b—A— B:EI>hN—/S— HIAZEy b
Anl 4 8 | kA 1:48.1 5-5-8-8 |42.2| — 8 516 | AREE) (ZH)
9|g|11|Eh/TAIZA 57.0 (1172 (Lo |BUikET
SANAFa— B h/UACFR AR R
= 8 : 35— — F (5
N DR L # o9 | FEBK 9 3-3-5-9 | 43.0 1 (ﬁ;) 2§§§( )
R:TAIWVKRTy a2 B:HITT1yF— [I)=2kse ]
N N FUSEPN : -10-11- — NEHEBE (BH)
1lgligl * 1 ¥avrs3ay H o6 el 1.(459>.8 10-10-11-11 42.7 1 z:g; v
R:AA 3oy Lyy B:O—XNLyg ®OEE
@ 1 — S —EBlIEf
13=7r= 1,9,3,4,11,2,5,6,7,10,8
2= = 1,9,(3,4),11,2,5,7,6,10,8
Jol=5r= 1,9,2,4,3,5,7,11,6,8,10
40—+ — 1,2,4,7,5,9,8,11,3,6,10
[ N3
BB 1 340H 714K 1-7 910M & 1-6 470 3EHE 1-2-7 8,710
8 B 1 170 1-2 770M B = 1-7 3,560 K31 1-7-2 41,130
7 420 2-7 1,680 | | B 1-7 4,950
2 300F9

ABICOVWTRDTEEERROODE. TR LIV,




